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BEAARK: wE1 R 2 R 3
P(mW dBm = 10 Log(P(W)) + 30 1W = 30dBm dBuV = dBm + 107 (50Q
dBm = 10 Log (L") g(P(W)) dBm ~ dBuV \ (500)
1Tmw 1o (@sm-30/10 1W = 0dBW dBuV =.dBm + 10Log(Z) + 90
P ALK P(W)=10 dBm = dBW + 30 4B B dBpA = dBm + 73  (50Q)
m —_—
P(mW) = 1048m/10 dBW = dBm — 30 H dBpA = dBm - 10Log(Z) + 90
Uy dBuV =20 Log(U(V)) + 120 1V = 120dBuV dBm =dBpV - 107  (50Q
dBuV = 20 Log (L), “ 0g(U1)) # BV~ dBm m = (500)
1uv (aBay—120)/26 1V = 0dBV dBm = dBpV - 10Log(Z) - 90
UABE vv) =10 dBuV = dBV + 120 dBpA = dBuV -34  (50Q)
B 20 dBuV ~ dBpA
Uuv) = 10481v/ dBV = dBuV — 120 dBpA = dBuV -20Log(2)
I(uA dBuA = 20 Log(I(A)) + 120 14 = 120dBuA dBuV = dBpA + 34 (50Q
dBuA = 20 Log(*4Y), “ 0g (1)) # dBUA ~ dBIV " " (500)
1uA ABRA-120)/20 1A = 0dBA dBuV = dBpA + 20log(2)
| AER 1(4) =10 dBuA = dBA + 120 Ny . dBm = dBpA - 73 (50Q)
1(uA) = 109BuA/20 dBA = dBuA — 120 2 dBm = dBuA + 10Log(Z) - 90
HEMINEEF Bip KL%k
dBuV/m ~ V/m ((dBp,V /m)—120) BIEREL | dBUV/m =dBuV +AF
v/m=10 20
V/m ~ dBuV/m dBuV/m=20Log(V/m)+120 %8 o~ Watt s GAIN
Wi e | VAE Meter
dBuV/m ~ dBmW /m? | dBmW /m? = dBuV/m - 115.8 FrEIhER (V/m « meter)?
dBmW/m? ~ dBuV/m | dBuV/m = dBmW/m? +1158 GAIN Mg VAt = A
dBuV/m ~ dBpA/m dBpA/m = dBpV/m -51.5 AR RYTHEFNAEARFRAST
dBpA/m ~ dBpV/m dBuV/m = dBpA/m +51.5 BIFEZ %L | dBUA/m = dBuV +AF
dBUA/m ~ dBpT dBpT = dBpA/m +2 FHINE | dBuV/m =dBpA/m +51.5 HETFH: 13425158926
dBpT ~ dBUA/M dBuA/m = dBpT -2 &8 | dBpT =dBuV +dBpT/uV WB#: sales@euttest.com
dBuA/m ~ dBpT dBpT = dBUA/m +2 B SRR Sk MIsik: www.euttest.com
W/m? ~\V/m V/m =SQRT( W /m?, = 377) 1B IFZ% | dBuA =dBuV-dBQ RINTERXFFHFFOBEIIEAE 423
Vim ~ W/m? wmt Forim) 9 dBUA= dBLV + (~dBQ) ~ B B RN IR S | B B S IAR S
uT ~ A/m A/m = WT/ 125 SENERIR S . SEHRM: 2024507 510 H
Watt=10({z + 10L0g(v2/50))/10) WA 105
A/m ~ uT uT = 1.25 « A/m FrEETh: -
I 115
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tFRATHEG1 B, dBHELE

1 fEREREl, 2 FEHEt—1RE.

LK 2 {ERE EFIE K +6dB, THE+3dB

hERBFNEG+1dB B, ThE 3G

| B FE dB B3 dB % dB
R
(dB) 1 1 1
1 0 0 0
2 6.0206 6.0206 3.010299957
3 9.542425 9.542425 4771212547
4 12.0412 12.0412 6.020599913
5 13.9794 13.9794 6.989700043
6 15.56303 15.56303 7.781512504
7 16.90196 16.90196 8.4509804
8 18.0618 18.0618 9.03089987
9 19.08485 19.08485 9.542425094
e 10 20 20 10
15 23.52183 23.52183 1176091259
20 26.0206 26.0206 13.01029996
30 29.54243 29.54243 1477121255
40 32.0412 32.0412 16.02059991
50 33.9794 33.9794 16:98970004
60 35.56303 3556303 17.7815125
70 36.90196 36.90196 18.4509804
80 38.0618 38.0618 19.03089987
90 39.08485 39.08485 19.54242509
100 40 40 20

LK 5100 {SEF B RANE A/ +40dB, THE+20dB

| BE FH B 5K REK
1 1.122018 1.122018 1.258925412
2 1.258925 1.258925 1.584893192
3 1412538 1412538 1.995262315
4 1.584893 1.584893 2.511886432
5 1.778279 1.778279 3.16227766
6 1.995262 1.995262 3.981071706
7 2.238721 2.238721 5.011872336
8 2.511886 2.511886 6.309573445
9 2.818383 2.818383 7.943282347
dB 10 3.162278 3.162278 10
15 5623413 5.623413 31.6227766
20 10 10 100
30 31.62278 31.62278 1000
40 100 100 10000
50 316.2278 316.2278 100000
60 1000 1000 1000000
70 3162.278 3162.278 10000000
80 10000 10000 100000000
90 31622.78 31622.78 1000000000
100 100000 100000 10000000000
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